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B EWRY 7 2) BT — A1
B Lty oUT[1]1[3]1[5106][8]1[9] I N[10][12][13]1[15][16][17] 2022406 H08H  (KIEH)

JIEAT. K 4 ouT IN G HC NET * W [NVEVAR d
1 HEER 35 36 71 4.8 66.2
2 FRHH 37 39 76 7.2 68.8
3 fhHEEA 44 41 85 15.6 69.4
4 RAHE 43 38 81 10.8 70.2
5 HhiE Bt 39 45 84 13.2 70.8
6 FEEE 39 38 77 6.0 71.0
T OERT 45 42 87 15.6 71.4
8 mET- 50 42 92 20.4 71.6
9 HLELEF 39 39 78 6.0 72.0
10 &5y =it 38 40 78 6.0 72.0
11 )i =8 41 42 83 10.8 72.2
12 AR 43 16 89 16.8 72.2
13 A& EH 46 42 88 15.6 72.4
14 Fl B 42 46 88 15.6 72.4
15 BH @ 46 48 94 21.6 72.4
16 it E 46 41 87 14.4 72.6
17 Afr3EH] 44 43 87 14.4 72.6
18 &H = 46 46 92 19.2 72.8
19 fEALEAE 49 43 92 19.2 72.8
20 /INHSCHE 42 43 85 12.0 73.0
21 AR sl 43 48 91 18.0 73.0
22 HFH I 44 40 84 10.8 73.2
23 HFER 44 16 90 16.8 73.2
24 R == 44 16 90 16.8 73.2
25 HH sEH] 45 51 96 22.8 73.2
26 B)IZE 45 43 88 14.4 173.6
27 ZHE— 43 45 88 14.4 173.6
28 B R 43 45 88 14.4 173.6
29 ] —& 39 36 75 1.2 73.8
30 IE[  FEEA 40 41 81 7.2 173.8
31 EHEEE—AR 47 52 99 25.2 73.8
32 R ET 49 49 98 24.0 74.0
33 HEHEEER 41 43 84 9.6 74.4
34 W E 42 42 84 9.6 T74.4
35 AT 42 42 84 9.6 74.4
36 AAR(EFE 41 43 84 9.6 74.4
37 MW iy 45 45 90 15.6 74.4
38 HEIEF 50 46 96 21.6 74.4
39 AHAL 46 43 89 14.4 74.6
40 SNEFE 48 47 95 20.4 74.6
41 [ BFE T 43 45 88 13.2 74.8
42 EHEE 46 48 94 19.2 74.8
43 RFTHEF- 46 48 94 19.2 74.8
44 KREAETE 45 42 87 12.0 75.0
45 BEEH HR 16 53 99 24.0 75.0
46 HH thT 39 41 80 4.8 75.2
47 EHETR 47 45 92 16.8 75.2
48 EF EXR 45 53 98 22.8 75.2
49 KRBEE= 39 40 79 3.6 75.4
50 ARRITHE 41 44 85 9.6 75.4
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B HFEWSRY 7 2) BT =21
B Lty oUT[1]1[3]1[5106][8]1[9] I N[10][12][13]1[15][16][17] 2022406 H08H  (KIEH)
JIEAT. K 4 ouT IN G HC NET * W [NVEVAR d
51 REMHR 45 39 84 8.4 175.6
52 i FHIEF& 45 44 89 13.2 75.8
53 IAKS HET 47 48 95 19.2 75.8
54 HA G 47 48 95 19.2 75.8
55 &R E=T 54 52 106 30.0 76.0
56 KB FEH 46 47 93 16.8 76.2
57 HiE B 45 47 92 15.6 76.4
58 HE JRE 53 51 104 27.6 76.4
59 mFH FEZ 48 43 91 14.4 76.6
60 HHF FEF 55 54 109 32.4 76.6
61 dA IE3E 57 52 109 32.4 76.6
62 PAEA—5L 50 46 96 19.2 76.8
63 B EEAE 16 43 89 12.0 77.0
64 = R 45 43 88 10.8 77.2
65 ALH BOC 53 52 105 27.6 77.4
66 Kot EFE 44 48 92 14.4 177.6
67 ElE Fafk 48 50 98 20.4 77.6
68 A |LfE— 51 46 97 19.2 77.8
69 KN&> 4 50 53 103 25.2 77.8
70 BFARX K 52 57 109 31.2 77.8
1 Bl FHE 55 54 109 31.2 77.8
72 H)IET 51 51 102 24.0 78.0
73 HHBEH 52 50 102 24.0 78.0
4 )l HIF 51 49 100 21.6 78.4
75 FERT OMERE 48 51 99 20.4 78.6
76 HEFERE 52 53 105 26.4 178.6
7 RE = 57 48 105 26.4 78.6
78 A HIE 44 42 86 7.2 178.8
79 B ER 52 56 108 28.8 79.2
80 K _E LA 51 56 107 27.6  79.4
81 =i —I% 54 16 100 20.4 79.6
82 WA JH— 53 52 105 25.2 79.8
83 HIH & 57 54 111 31.2 79.8
84 HillRF FE 47 51 98 18.0 80.0
85 FH FHF 55 55 110 30.0 80.0
86 = e 44 47 91 10.8 80.2
87 HilE I1E3%E 54 49 103 22.8 80.2
88 MAHET 56 52 108 27.6 80.4
89 FHE LI+ 46 61 107 26.4 80.6
90 fEff] HAE 54 16 1000 19.2 80.8
91 R TH 46 45 91 9.6 81.4
92 MY HEF 60 58 118 36.0 82.0
93 /8 =FAR 67 51 118 36.0 82.0
94 L BET 54 50 104 21.6 82.4
95 %M HF 47 44 91 8.4 82.6
96 HEILIEF 58 59 117 33.6 83.4
97 FEH HiT 62 58 120 36.0 84.0
98 HHHBEET 62 58 120 36.0 84.0
99 EBF HER 53 56 109 24.0 85.0
100 AR EF 59 49 108 22.8 85.2
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B EWRY 7 2) BT =1
F2 Ui OUT[1][3][51[6]1[8][9] I N[10]J[12][13][15][16][17] 20224206 HO8H  (Jki#EH)
JIEAT. K 4 ouT IN G HC NET * W [NVEVAR d
101 Hr ®EF 59 63 122 36.0 86.0
102 FEEENRT 62 61 123 36.0 87.0
103 HFAS 67 57 124 36.0 88.0
104 P5H &E1T 61 63 124 36.0 88.0
105 HE 67 72 139 36.0 103.0




